Solvin

SolUTToNS =2 6.7 Using
@Q) x*+Bx-6=0

a=41,b=5,c=-6
X =-bt{b*-Mac
pdc |
X = -85 (5 40)-6)

2(1)
x= -5%J35+2Y
L
= -5+ {49
o I
x=-65%17
- 2
= ~-5+7 or xA=-5-17
= 7
= 2 X= -1

3

Quadratic Ecﬁfucﬁ-ions

*he Quadr

ic Formula



b) 4% +Ax*=0O
aQx*+4%X=0
a=9 b?—‘%) Cc=

}

@)

X=-hI\b*-Hac

x = =4 % N@)>4¢aX0)

29
x=-4% {[6-0

Is
X=-4ENig
g
x=-4%4
R
A==t or K= —A-
I8 13
xX=Q  X= -
I8 13

c) I5x*-121=0
a=125,b=0,Cc=-12]
=-phI|b>*4ac
e o]
x= Qt J(Oy-40G5)-121)
]

xﬁcytJé%ﬁﬁaﬁ

50
%= {100
S50
P Re)
SO
xX==% 11
5
X= 11 or X=-11
S 5



b) 4% +9x*=0O

qx*+4%X=0
c)\---‘:l,b:“}J =
X=-h*\{b*-4ac
-
x = =4 % N&)-4(3X0)
2(9)
K- - E__Iyglﬁg-o
X=-4* ¢
Ig
’)(-.: —-4 i- 4-
138
=-4+44 or xX=-N~-
I8 18
xX=0 X=_=
I8 18

) I5%x*-121=0

a=12S,b=0,C=-12]

x=-btJb*4ac

o L0
x=-Qf (O)-405)-121)
i

, —RO._
A= = 12100
S0
A= 11O
SO



d) 12x*~17x-40=0
Q=12J_,b=-i7,c="~40

x= =-bt \|b*~44ac
2a
x= 171+ D =902390)
2(12)
= |7+ {989+ (920
D

x= 71X J2209

Ot
o= 17E 47
4
*X=11t47 or X=17-47]
O D4
X= o4 Bi= -5
L D
xX= 8 xX= -5
3 4]



CS SQWE each equcotion 10 Questono
\_él Ct.c-!mrm Which med od did \you
Srefer For coch ECLB_LQ‘ﬁ'lQn Expldin.

a) X*24+5x-6=0 -1 xb.=-(
('x—a)b(-'rca) O =IL4+6 =5
X=1=0 or X+6=0

x=| X=-G
b) 4x + Qx* =0 c) H5x° ye21=Q
Ax*+4x =0 (B5x -1 GEx+HD=0
X(Ax+4)=0 5x-11=0 or &% +11=0
X=0 ae 9X4H=0 Xx=11 x=-11
Ax=4 Z 5 5 5
9 9 9(=JS_.L ><==—JS_J..

X= it
q



— T T e

I2AX2+1S%-32%x- 4O =
Q23 +15x)-32x 40

SXA%x+8)- (4 X +8

(4%x+5)(3%-8)

4X+> =0 or éX- 8

Ax=-5
4 4
X=-"9

L




x 8. The roots for +he cbmdmﬁ'c equﬁl'on
.44 0*+2.88a = 9!.6 =0
are a=3 and a=-5. 'U‘en'{-‘g these roots.

[a=3] g S R.S Oince L8=RS,
4424 2.88a — 9.6 O a=3 1S
!4‘—&(5) 2.88(3)-91.6 a valid
!‘-H(GIJ-}- B.64 -Dl. & Solution.
1296 - 12.9¢
O
[Q-—S] R.S. Since LS=R.S,
1'—\ +2 BE ~ . Q a=-51s
[ ) +2.88E5)-21.6 a valid
IL-E @-‘S) 14.4-21.4 Solution.
(- T

O



6. Yolve €ach equation. State the
Solutions as eXact values.

Q) Ix2-6x-1=0 b) X*+8% +3=0
a=3, b=-G, C=-| a=1,b=8,c=3
x=-bt | b*-4ac x=-bTt |(b*4ac

& 2
x= ot )= 4@)C1) x= ~8* NRIHUX3)
2(3) L)
X= I \N36c+12 xX= -8+ JeH-12,
xX= X 48 xX=-8f\{5
G =
e can stophere (We can stop here

for rLou).‘ for Q?LOf



e) 8%x*+8%x-[=0 d) 9x*=12x-1=0

a=%, b=%, c=-1 Q=9, b=-12,c=-|
X=-pi{b*4ac  X=-Dbt bz—'—%qc
x=-8% \izé)z H4ERICED  X= 12t \R—m L 4(q)-1)
X=-8% \Y%%@E’i xX=12.% \!Z“LZ??H:«D
=-3% % X= |2% | 130
A k3
ﬁi“ﬁ‘;&w here e can shophgre
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